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1. In each of the following statements, one is
correct out of four alternatives. Choose the

correct one : 1x8=8
(@) The term ‘genetics’ was coined by

() William Bateson

(i) T. H. Morgan

(iii) C. Darwin

(iv) Francis Galton
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(b)

(c)

(d)

P7/348

(2)

Dominant gene can express in
() homozygous conditioﬁ

(i) heterozygous condition
(i) hemizygous condition

(iv) both homo

Zygous an
conditions F hetemzygous
Ff)ur offspn‘ngs of a ¢o
different in their ApQ

() both of the
for A

uple may be
ood group, if

Couple heterozygous

Which of 4,

1 e following is QUantitatiye

(i) Haemophilia

(®) Palm pring

(@) Tota] colour blindnegg
(iv) Xg blood group

( COntinued )

(e)

(9)

(h)
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(3)

Genes do not occur in pairs in
(i) body cell
(i) gametes
(iti) fertilized egg
(iv) zygote
The term ‘genome™is used for
(i) haploid set of chromosome
(i) diploid set of chromosome
(iii) polyploid set of chromosome
(iv) triploid set of chromosome

Which of the following characters is not

autosomal?

(i) PTC taste sensitivity
(ii) Brachydactylic

(i) Beard and __;Epustache
(iv) Hairy ear :

In human beings, multiple genes are
‘ n the inheritance of

involved i
(i) colour blindness
(ii) - ABO blood group
(iii) skin colour

(iv] stature

( Turn bver}



(K4* )

2. Write short notes on any four of the

=16
following : 4x4
(@) Chromosomal aberration

(b) Inbreeding and miscegenation
()
(d)

Polygenic and polymorphic inheritance

Mode of inheritance of haemophilia
(e) Pedigree method

3. Give the definitio

n of human genetics. Write
about its aim an

d scope.

Or

as a hereditary unit with

illustration 14
Or

What is single-fac{or inheritance? Explain -

with exampleg 14,

is Populati

on geneticsy What ;
Hardy-Weinber

1s
. g law? How is it used ip
Population genetics? 2+2+10=14
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(5)

Or

. tic equilibrium?
Weinberg law? What 1s genetic €q 2+4+8=14

: f heredity and
. elative role o
Explain the r

sical traits
ironment in the growth of phy
env

14
of man.
Or
i nt play role
itv and environme g
Howtd:u?eer(;ight and skin colour?
on sta ;
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